
S No. Question Text Choice 1 Choice 2 Choice 3 Choice 4 Correct Choice

1 Which type of test case will you employ to verify an application's 
response time and
overall effectiveness?

User Interface Test Cases Performance Test Cases Functionality Test Cases Usability Test Cases Choice 2

2 What does the given image represent in a Cause Effect graph used 
in the dynamic test case writing technique?

AND operation OR operation One and only one constraint Mutually exclusive constraint Choice 4

3 You are creating a dataset where the valid data ranges from 0 to 
1000. Which category
will a data value of "eighty" come under?

Boundary Condition dataset Dataset for performance Dataset for stress testing Invalid data set Choice 4

4 In the given image, which of the following kinds of anomalies do 
O1 and O2 signify?

Collective Anomalies Point Anomalies Updation Anomalies Contextual Anomalies Choice 2

5 Which of the following responsibility categories includes creating 
programmes for institutional safety and compliance and helping 
academics, schools, departments,
and management put them into practise?

Supervisory Responsibilities Managerial Responsibilities Environmental Health and Safety 
Responsibilities

Staff and Student Responsibilities Choice 3

6 Items like plastic carry bags, newspapers, glass bottles, shoes, 
plastic cutlery, tires, etc. are some examples of what kind of 
waste?

Wet/Kitchen Waste Dry waste Sanitary Waste Electronic waste Choice 2

7 When creating the test scope for a test plan, which of the 
following choices does not fall
under out of scope testing?

Stress testing Performance testing Logical database testing External interface testing Choice 4

8 The customer wants you to test the project's API while working on 
it, but doing so will increase the project budget. In such a case, 
which of the following justifications will you
not offer to the customer?

Inform the customer that API 
testing requires additional work 
and will use a lot of resources.

Inform the customer that if API 
Testing is included in the scope, 
the budget will be increased by X 
amount.

Provide customer evidence 
demonstrating the high resource 
requirements for API testing.

Inform the customer that API 
testing has already been done and 
cannot be done again.

Choice 4

9 Which of the following statements are true with respect to 
Integration testing?
1)Fault Localization is easier in Top-down Integration Testing.
2)Fault localization is difficult in Bottom-up Integration Testing.
3)Stub is called by the Module under Test. 4)Driver is called by the 
Module under Test.
5)Stub calls the Module to be tested.

1 and 3 only 1, 2 & 3 2 and 5 only 3 and 4 only Choice 1

10 You run into the following situations while working with issue 
management. Which category do these issue fit into?
Situation 1: The team's lack of expertise.
Scenario 2: The project's funds run out.

Scenario 1: Definition Issues 
Scenario 2: HR Issues

Scenario 1: Scheduling Issues 
Scenario 2: Definition Issues

Scenario 1: HR Issues Scenario 2: 
Strategy Issues

Scenario 1: Scheduling Issues 
Scenario 2: HR Issues

Choice 3

11 Scenario: You are a team lead at a company. There are instances 
where your co-workers' perspectives differ. But as the team's 
leader, you arbitrate the conflict and help the parties concerned 
come to an agreement.
Problem: Which of the following people management strategies is 
illustrated in the scenario above?

Trust Patience Flexibility Conflict-resolution Choice 4

12 Which of the following categories do the tasks listed below fall 
under?
Task 1: To spend time with family.
Task 2: Co-workers who seek guidance on matters of work

Task 1: Not urgent but important 
Task 2: Urgent but not important

Task 1: Urgent and important Task 
2: Not urgent but important

Task 1: Urgent and important Task 
2: Not urgent and not important

Task 1: Urgent but not important 
Task 2: Not urgent and not 
important

Choice 1

13 There are 3 main categories of data in data analytics. Which of the 
following instances matches the relevant columns correctly?

1,5-c
2-a 3,4-b

1-c 2,5-a
3,4-b

1,4-c
2-a 3,5-b

1,5-c
2,4-a
3-b

Choice 1

14 Identify the correct matching of risks with their respective 
mitigation plan in test planning.

1-b
2-a
3-c
4-e
5-d

1-b
2-c
3-a
4-e
5-d

1-b
2-c
3-a
4-d
5-e

1-b
2-d
3-e
4-a
5-c

Choice 2

15 You and your colleague are part of a meeting. You place your head 
in your hands while the manager leads the meeting. On the other 
hand, your colleague places his head in his hands to hide his face. 
What can be
comprehended from the given situation?

It indicates that you're busy 
thinking about something else and 
your colleague is not truly 
interested in what the manager 
has to say.

It indicates that you're not truly 
interested in what the manager 
has to say and that your colleague 
seems upset or ashamed about 
something.

It indicates that you're upset or 
ashamed about something, and 
your colleague is not truly 
interested in what the manager 
has to say.

It indicates that you're upset about 
something, and your colleague is 
hiding his face to hide his laughter.

Choice 2
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